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Where is first part???
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No need to elaborate this part
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Tedious
Write in the form of headings
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Kindly build heading showing its evolution
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Stay relevant to the asked part
Organize your answer
Discuss your paper in tutorial
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You need to build heading linking the nature
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Take heading for the question statement
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Try explaining it via dependency theory
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Link solely with dependency
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Merge within argument

You have bleak knowledge on the said topic
Research for it
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Write as impact
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Imbalance
Discuss both the parts equally
Elaborate and justify impact part with events
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Link with globalization
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Link with Nona traditional security threats
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Write traditional security under Barry Buzan and then elaborate the part of how globalization is impacting 21st century security

General Instructions for attaining good marks in International Relations

Add IR theories and approaches as much as you can

use IR jargons to differentiate it from Current affairs paper

try reflecting IR concepts or words in your heading

no need to apply all theories in one question but one or two that may Justify your arguments

Justify your arguments with at least 8-9 headings

Add current developments as an examples to support arguments

add IR philosophers e.g.Morganthue, Mearcheimer etc and their philosophies

add graphs charts and critical analysis for bonus marks

each question has 2 or 3 parts, give equal weitage to all parts




